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Choose the correct answer from th

1. Notochord is confined to proboscis in

Urochordata b. Hemichordata

d. Cephalochordata

1S present in al | chordates ?

ch of the followi

Ti_\'_(‘[c‘]_[ cord b. Ventral tubular nerve cord

ocoelom

d. Pseud:

> animal group whose members are considered doubtful chordate
a. Urochordata

c. Ce

b. Hemichordata

d. All of the above

kKin dry covered by ectodermal horny scales or scute

b.

Aves

Reptilia

5. Blood vas

olourless b. Open typ

0. SSUS 1S;
b. Enterocoel
d. None of the above
N o phibian” 1s used for
fovician period b. "-)Ji\:vlnn:g\”|v1'n‘ylvvu
c. Carbontferous period d. Devonian period
[t vous svstem 1s present in:
dates b. Hemichordate:
| ¥a Py B B elal
C . PDrotochordat
» velopmel nu 1S;
Jirec b. Indirect with ret
metamorphosis
thot metamornphosis d. Indirec! 1th met i







ome other phyla.

codermi and Placodermi




